
1 .  Dallas buys strawberries, and would be willing to pay more than he now has to 

pay. Suppose that Dallas has a change i n  his tastes such that 11e values 

slrawberries Inore than beforc. If the market price is the same as before, then 

a. 1)allas's consumer surplus would be unaffecled. 

b. Dallas's consunler surplus would increase. 

c. Dallas's cousunier surp111s w o ~ ~ l d  decrcase. 

d. Dallas would be wise lo buy fewcr strawberries than before. 

Suppose that policy~nakers are consitlering placing a tax on either of two 

markets. In Ma~ket A ,  the tax will have a significant elfecto~l the price 

consumers pay, but it will not affect equilibrium quanlity very ~nucli. In Market 

L3, the same tax will have only a s~llall effect on the price collsumers pay, but i l  

will have a large elxect 011 lhe equilibrium quantity. 111 which market will the lax 

have a larger deadweighl loss? 

a. Markel A 

b. Market 11 
I 

c. r>eadweight loss will bc (he sallle in both ~llarkets. 

d. l'here is no1 enough informalion Lo answer the question. 

3. 111 which of (he following cascs is [he Coase I'heorem most likely to work lo 

solve the exlernality? 

a. Richard is al~noyed because his roo~ninate smol<es. 

b. Cl~emicals fiom farms in the Mississippi Valley are polluting Ihe GulToC 

Mexico. 

c. Car exhaust in a small town is mnking one of its residents ill.. 

d .  Industrialization around the world is callsing acid rain. 

I .  One problcrn will1 government regulation oTmonopolies is tliat 

a a benevolent government is likely to be intcrestcd in generaling profils for 

political gain. 

b. regulated induslries typically 11avc rising average costs. 

c. (he govern~r~ent typically has little incentive lo reduce costs. 

d a government-regulated outconie will increase llle profitability oTl1ie 

monopoly. 



i 5. Alma, Bob and Carlos afe competitors in a local market, and each is lrying to 
, 

decide if it is worthwhile to advertise. If all of them advertise, each will earn a 
profit of $2,000. If none of them advertise, each will earn a proiit of $8,000. If 
only one of tl~enl adverlises, the one who advcrtises will earn a profit of $6,000 

I 

and the other two will each earn $5,000. If two of !hen1 advertise, those two will 

each earn a profit of $4,000 and the olller one will earn $3,000. If all three 
follow their dotninant strategy, Alms will 

a. advertise and earn $2000. 

1). advertise and earn $4,000. 
c. not advertise and earn $5,000. 

d .  not advertise and earn $8,000. 
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